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(1) Compute the volume of the solid enclosed by the ellipsoid -c;—- ;;—2 + el =1,

where a,b,c are positive constants. (15%)

2) Let [ (x) and g(x) be two continuous real-valued functlons on [a,b]. Show |

that [ ) f(x)g(x)dx’ ( (7)) dx)( j"lg(x)l dx) . - (15%)

3 Evaluate the improper integral I: xe *dx if exists. (10%)

4) Firid the area of the region enclosed by the curves y=x and y =x’ inthe
plane. (10%)

__(5) Evaluate the following indefinite integrals

(a) jlnxdx () [secxds. o (20%)

(6) Find the following limits
- (a) h_r)n( J' - dx) if exists

(b) hm X I Lost Jr if exists. -
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(30%)
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